TUTORIAL#11[image: image1.png]Problem 7.3

For the given state of stress, determine the normal and
shearing stresses exerted on the oblique face of the shaded triangular element
shown. Use a method of analysis based on the equilibrium of that element, as
was done in the derivations of Sec. 7.2.
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For the given state of stress, determine (a) the princi-
pal planes, (b) the principal stresses.
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For the given state of stress, determine (a) the ori-

entation of the planes of maximum in-plane shearing stress, (b) the corre-

sponding normal stress.
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For the given state of stress, determine the normal

and shearing stresses after the element shown has been rotated through (a) 25°
clockwise, (b) 10° counterclockwise.
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